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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(ii)
(iii)
(iv)

(v)
(vi)
(vit)
(viii)
(ix)

67/4/2

This question paper contains 34 questions. All questions are compulsory.
This question paper is divided into two parts — Part A and Part B.
Part A is compulsory for all candidates.

Part B has two options i.e. (1) Analysis of Financial Statements, and
(2) Computerised Accounting. Candidates must attempt only one of the given
options as per the subject opted in Part B.

Questions no. 1 to 16 and 27 to 30 carry 1 mark each.
Questions no. 17 to 20, 31 and 32 carry 3 marks each.
Questions no. 21, 22 and 33 carry 4 marks each.
Questions no. 23 to 26 and 34 carry 6 marks each.

There is no overall choice. However, an internal choice has been provided in
7 questions of one mark, 2 questions of three marks, 1 question of four marks
and 2 questions of six marks.

PART A
(Accounting for Partnership Firms and Companies)
Assertion (A) : Increase in the value of liabilities on reconstitution of a
firm is debited to Revaluation Account.

Reason (R): Increase in the value of liabilities is a loss.

Select the correct alternative from the following : 1
(a)  Assertion (A) is correct, but Reason (R) is wrong.
(b)  Assertion (A) is wrong, but Reason (R) is correct.

(¢) Both Assertion (A) and Reason (R) are correct and Reason (R) is
the correct explanation of Assertion (A).

(d)  Both Assertion (A) and Reason (R) are wrong.

—~ Page 3 P.T.O.
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1T HIcqi+ 1e8fa #1 91T a9 39 & 73 o7 & ST9R T 397 &1 2 797

3 & I Frw :
ShITE, P qAT PRI AISIER 9 AT 3 : 2 : 1 h JUMA H TIH-BIH dfed & | 3Teh!
TR St AR T 12,00,000, T 10,00,000 T T 8,00,000 off | ¥F WAl 7S
6 ISt M =S 10% arfies X & fgan S | JreeR 791 TR & 9a9 o §heR
U

*IE T 5,000 Wi ATE qAT FHEO T 3,000 Tt fomTE |

31 9T=, 2022 ! HHTH §T a4 H %H 1 A T 6,72,000 T |

2. HEEN 9] @Al % 991 98 § G5 W S a°1 9aq W fIw wa @i
I et Tiw off

(a) %@ T 1,20,000, FM T 1,00,000 R FH T 80,000
(b)  h¥E T 1,80,000, FM T 1,12,000 3R TR T 80,000
(¢) 3@ T 60,000, FM T 12,000 3R Gl T A

(d H¥E T 3,30,000, F0 T 2,12,000 AR T T 1,30,000

3. USRI o 9] @Al H gEAT-aiRd hl ST STt T <l T of
(a) A T 1,00,000, F T 1,50,000 T TH T 50,000
(b) WA T 50,000, FOT T 1,50,000 4 TR < 1,00,000
(¢) %@ T 1,50,000,F T 1,00,000 T T T 50,000
(d) ¥E T 1,51,500, FW0 T 1,01,000 99 T T 50,500

4. () uw fafiees 3 T 100 I&F F 2,00,000, 7% FOGET B 5% qg W
frifia foren, fSeept Wiem 59 Sfiftem @ e 2 | kot & e @
g qA Wed R Nifrm w1 o@r Seome e g1le @El’ & wesw 8
foram mm | worE & e W Sroe e w1 @’ § @d 6
TrlTlI"ﬁ :
(a) ¥ 10,00,000 ¥ SHT 9&T |
(b) ¥ 10,00,000 ¥ =19 9& ¥
(¢) ¥ 20,00,000F 9™ 9&T T
(d ¥ 20,00,000 § 4T 9&T H

AAAT
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Read the following hypothetical situation and answer questions number

2 and 3 on the basis of the given information :

Keshav, Krishna and Murari were in partnership sharing profits and
losses in the ratio of 3 : 2 : 1. Their fixed capitals were : ¥ 12,00,000,
< 10,00,000 and ¥ 8,00,000 respectively. It was agreed that interest on
capital will be allowed at 10% per annum. Partners were entitled to

salaries as follows :
Keshav ¥ 5,000 per month and Krishna ¥ 3,000 per quarter.
Profit of the firm for the year ended 315* March, 2022 was ¥ 6,72,000.

2. Amount credited to the Partners’ Current Accounts on account of ‘interest

on capital’ and ‘salary’ was :

(a)
(b)
(c)
(d)

3. Amount of profit transferred to Partners’ Current Accounts was :

(a)
(b)
(c)
(d)

4. (1)

67/4/2

Keshav ¥ 1,20,000, Krishna ¥ 1,00,000 and Murari ¥ 80,000
Keshav ¥ 1,80,000, Krishna ¥ 1,12,000 and Murari ¥ 80,000
Keshav ¥ 60,000, Krishna ¥ 12,000 and Murari ¥ Nil

Keshav ¥ 3,30,000, Krishna ¥ 2,12,000 and Murari 1,30,000

Keshav ¥ 1,00,000, Krishna ¥ 1,50,000 and Murari T 50,000
Keshav T 50,000, Krishna ¥ 1,50,000 and Murari ¥ 1,00,000
Keshav T 1,50,000, Krishna ¥ 1,00,000 and Murari T 50,000
Keshav ¥ 1,51,500, Krishna ¥ 1,01,000 and Murari ¥ 50,500

Anuradha Ltd. issued 2,00,000, 7% debentures of ¥ 100 each at a
discount of 5% redeemable at a premium of 5%. Discount on issue
and premium on redemption were accounted for through ‘Loss on
Issue of Debentures Account.” On issue of debentures, ‘Loss on
Issue of Debentures Account’ will be : 1

(a)  Credited by ¥ 10,00,000
(b) Debited by ¥ 10,00,000
(c) Debited by ¥ 20,00,000
(d)  Credited by ¥ 20,00,000

OR
~~~~ Page 5 P.T.O.
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(i1)

et fafis 9 T 100 TF % 4,000, 9% RO B 10% G R Fifa
Tora frmept sew it W o S o | SeorEt o e @ w87 3R
ot & ed Wi’ @ et Seovs e w1 @’ & T |
fopem | afe oo feie w1 @ @ T 60,000 9, A1 RO 6
e 9 fifeRm <6 afey off .

(a) T 60,000 (b) T 40,000

¢) ¥ 20,000 (@ ¥ 80,000

fosa qum oI5 TH ®H % HEER & | 9Pl o o STIER ST W
12% aTfteh a0 T I &3 SO | AT W I &bl ATH-g1H faf e @ |

gEd-diid i & folu fy=faRad @ 9 -8 @d & 9M 98 § @diHl <kl
STt 2

(a)
(b)
(c)
(d)

1)

(i1)

gTeieii < =Te] @

TSR % ISt @

qaEd ffide 9 T 10 I % 50,000 THAT 7901 i T0 ey R Frifaa

gﬁ%ﬁdq&u&cﬁ st feeu | ufa ster ufdt 1 ymam f= yer @
g7 .

3ATEET W T 3; €A W T 4 9971 JIH TF Af<H I=AT W T 3 |

1,45,000 BT 311 % o7 319G T g | 20,000 37T h A Pl

€ L TG T QT I TG Wl IATUTIIh 3R 379N <hT 3TTEeA

foram T | 3TEeT W T IAfAafch TS 1 SHRISE 3TEed dAT Y Ud

A\ I W T U A o o= | 1w I @i o S 9eT |

CARIERCRICRCARV N

(a) T 2,25,000 (b) T 25,000
@ ¥ 1,75,000 @ I
AT

arfyea gSft o fawer ¥ frafoifaa & @ ®H-a1 Fom d 8 2

(a) I8 W Yot 6l 9 URT & & geen & sfgtHomi & 3aR
Hrot fi o fow e1feeed 2 |

(b) %ﬁw@w&m%ﬁﬁm%mmﬁ
et w9 & it foren man 2 |

(c) %‘s'ﬁ’r&lﬁﬁwa%w%ﬁiﬁwmﬁqlmqﬁaﬁaﬁ%m
|

(d) Ig IAfaa (AT TR) ISl 1 98 W & 8 Smgiehl ¥ ardfae
w9 ¥ UTH fopam T B |
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(i1) Diksha Ltd. issued 4,000, 9% Debentures of ¥ 100 each at a
discount of 10%, redeemable at a premium. ‘Discount on Issue of
Debentures’ and ‘Premium on Redemption of Debentures’ were
accounted for through ‘Loss on Issue of Debentures Account’. If the
amount of ‘Loss on Issue of Debentures Account’ was ¥ 60,000,

then the amount of premium on redemption was : 1
(a) ¥ 60,000 (b) T 40,000
(c) < 20,000 (d) < 80,000

Vijay and Ajay are partners in a firm. The partnership agreement
provides for interest on drawings @ 12% per annum. Which of the
following account will be debited to transfer interest on drawings to
Profit and Loss Appropriation A/c ? 1

(a)  Interest on Drawings Account
(b)  Bank Account

(c) Partners’ Current Account

(d)  Partners’ Capital Account

(1) Manmohan Ltd. invited applications for issuing 50,000 equity
shares of ¥ 10 each at par. The amount payable per share was as
follows :

On application ¥ 3; on allotment ¥ 4 and on first and final
call ¥ 3.

Applications were received for 1,45,000 equity shares. Applications
for 20,000 equity shares were rejected and remaining applicants
were allotted shares on a pro-rata basis. Excess application money
received with application was adjusted towards sums due on
allotment and first and final call. Amount credited to

calls-in-advance account was : 1
(a) < 2,25,000 (b) < 25,000
(c) < 1,75,000 (d Nil
OR
(i1))  Which of the following statement is correct regarding subscribed
capital ? 1

(a) It is the amount of share capital which a company is
authorised to issue by its Memorandum of Association.

(b) It is that part of authorised capital which is actually issued
to the public for subscription.

(c) It is that part of the issued capital which has been actually
subscribed by the public.

(d) It is that part of the called-up capital which has been
actually received from shareholders.

—~ Page 7 P.T.O.
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e (AT T8 Tg) A% YSit b1 a8 W fSrehl ATEET hadl U o foered @
U & <hl S Tehdl 8, hadld! @ :

(a) Tifia 90
(b)  Ed St

(c)  @fwa gait
(d) oifrifaa gsh

Th B o foered W feafa foawor # e mm =) T 2,00,000 o7 | HA=R
HT 50% Th AR 5 T 65,000 H o o7 a1 3 50% ! & o3 9 20%
A T &= TR | Sk @Td o A9 9 § @il skl 78 Tisn of

(a) T 1,45,000
(b) T 80,000
(¢ T 65,000
d T 1,85,000

g e 3 T 10 I3 & 5,000 gHAT 319, = T 5 Ifd 191 & M w
frifira fopam o o, = 4 9fd 3191 Y YoM wa 2Afaw AT HT PTAE T HH W
0T Y ToTaT | 80T R 3131 80T WId’ o STHT 98T H @di-t shl T8 TIRT B

(a) ¥ 20,000
(b) ¥ 30,000
(c) < 50,000
(d ¥ 55,000

YT, G q1 T Sl BH & foeed | R aff Il S99 981 HH % g
TEAd gafl ek T 38 T 14,500 1 TaM foham T | sqelt < ardfaen
-1 T 11,000 T TAE R gRT foham T |

T & St Wi & ST vt § @l <l S et iy gt

(a) ¥ 11,000
(b) T 3,500

¢ T 14,500
d T 25,500

-~~~ Page 8



7. Part of the uncalled share capital that can be called up only at the time of
winding up of the company is called : 1

(a)  Issued capital
(b)  Paid-up capital
(c) Reserve capital

(d)  Un-issued capital

8. On dissolution of a partnership firm, furniture appearing in the Balance
Sheet was ¥ 2,00,000. 50% of the furniture was taken over by a partner
at ¥ 65,000 and balance 50% was sold at 20% less than the book value.

The amount debited to bank account was : 1
(a) ¥ 1,45,000

(b) < 80,000

(c) T 65,000

(d ¥ 1,85,000

9. Chavi Ltd. forfeited 5,000 equity shares of ¥ 10 each issued at a
premium of ¥ 5 per share for non-payment of first and final call of ¥ 4

per share. On forfeiture, ‘Share Forfeiture Account’ will be credited by : 1
(a) ¥ 20,000
(b) < 30,000
(c) < 50,000
(d) < 55,000

10. On dissolution of the firm of Ramesh, Suresh and Naresh, Naresh had
agreed to bear all realisation expenses for which he was paid ¥ 14,500.

Actual expenses on realisation amounted to ¥ 11,000 which were paid by

Naresh. The amount to be credited to Naresh’s capital account will be : 1
(a) ¥ 11,000

(b) ¥ 3,500

(c) T 14,500

(d) T 25,500

67/4/2 ~ N~~~ Page 9 P.T.O.



11. gorar fafis 9 T 100 I% & 5,000, 7% Fo9AT &1 fEE 10% Hfm
foRe | fefor st Srat o STTER TMRT 1 40% ATdET T a1 3§ A& W <
of | frfm qut &9 @ rfered g1 den quf TfSt wrw &) M | e qun ATeeA

9T YTH T sy off

(a)
(b)
(c)
(d)

12. @)
(i1)

13. @)

67/4/2

T 2,50,000 91 T 3,00,000
T 2,00,000 9T T 3,00,000
T 2,00,000 q1 T 3,50,000
T 2,00,000 qT T 2,50,000

379, W qAT T Toh BH § TIEER I AT 5:3: 2 % GG B AT B
fawTsH &t o | 1 ST, 2022 it A 1 e 8 T | 31g q |,
HI % W oh1 AR =1 ST § &l

(@ 1:1 (b)

(¢ 5:3 (d)

AT

fafea, giia e Hiar v w4 o AEER & G 4 : 3 : 19 3T § AT
&1 foaeH d & | Hiar w1 [Fem g T qen e a v fafea 9 @
foren | fafea qen giwa o1 7o ar9-favtem srgama g

(@) 1:1 (b) 5:3

(c) 3:5 d 5:2

A, TH FEGR 7 1 FaE, 2020 H T 1,20,000 T KT FBH hI
fean | argerd dotw B srquieafa @ 31 9, 2021 1 O W T =AW
< s et

(a) ¥ 3,600 (b) ¥ 7,200
(c) T 12,000 (d ¥ 6,000
AT

-~~~ Page 10



11. Sujata Ltd. issued 5,000, 7% Debentures of ¥ 100 each at a premium of
10%. According to the terms of issue, 40% of the amount was payable on

application and the balance on allotment. The issue was fully subscribed

and all amounts were duly received. The amounts received on application

and allotment respectively were :

(a)
(b)

(c)
(d)

12. (1)
(i1)

13. (@)

67/4/2

¥ 2,50,000 and ¥ 3,00,000
¥ 2,00,000 and T 3,00,000

¥ 2,00,000 and ¥ 3,50,000
¥ 2,00,000 and ¥ 2,50,000

Anu, Monu and Sonu were partners in a firm sharing profits in the
ratio of 5 : 3 : 2. Monu died on 15t January, 2022. Anu and Sonu

will acquire Monu’s share in the ratio of :

(@ 1:1 (b) 3:2

() 5:3 d 5:2
OR

Vidit, Sumit and Mita were partners in a firm sharing profits in
the ratio of 4 : 3 : 1. Mita died and her entire share was taken up
by Vidit. The new profit sharing ratio of Vidit and Sumit will be :
(a 1:1 (b) 5:3

() 3:5 d 5:2

On 15t October 2020, Amit, a partner, advanced a loan of
T 1,20,000 to the firm. In the absence of partnership deed, the

amount of interest on loan to be paid on 315t March, 2021 will be :

(a) ¥ 3,600 (b) ¥ 7,200
(c) < 12,000 (d ¥ 6,000
OR

1

~ Page 11 P.T.O.
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(1)

(i1)

fota, TS d9T IS Ush HH o HEICR & d9 ATH-gIH :
&qudfronddél%m 2021 Wl T 1 g & T8 ﬂ?ﬂ?ﬁﬁlﬁl
qoh ®H o Al | ST YN shl AT T 75,000 hl TS

fafalRaa # 9 98 @@ & 9 9 § i e ?

(a) ATH-IH 39d Gl

(b)  ATH-ETH @raT

(¢) Y-gIH fafrasm @

(d) Y-8 SRS T

e qen guft v % § AEER o 91 3: 2 o STJUId H ATH-gIH died

9 | 13799, 2022 § o ATHI I S-S died & Ty w@gad g | BH

i TG T e T 3,00,000 fopam o1 | wHRISE ffifea 9 |

ferd o e grr fepa Stram 2

(a) HOft & 9 98 ° T 30,000 a1 T o @1 9 H T 30,000 H
A |

(b) o s 9m war & T 30,000 aum goft & @1 9 H T 30,000 Hi
QA |

(c) Hoft & 9@ gg ¥ T 3,000 o1 f&m & sm1 9 & T 3,000 i
QA |

(d) fTon e amum § T 3,000 au guft & @1 98 7 T 3,000 Hi
QAT |

YT

A, GHA AT Aifgd Teh HH § AT9ER 9 A1 8:5: 3 < 314 H ATHI
&1 fauTeq wd 9 | 1 318, 2022 ¥ 38 I8 v foren fo wfasa 4 9
AT 1 TI9TSH 5: 6 : 5 % 39 § &yl | fEfafed @ @ amv-faarse
AT | qREc o 0T ATHER o ATUAH I TN hl Tg=H hi :

(a) :lmwaqﬁ:lw%qli ngWﬂl*ll—Iﬁ'%ﬁ FEIT’T%
(b) ﬂuawwluﬁ,gﬂqwaﬁw%#ﬁ,ﬁ%ﬁwafw%

(¢)  TTHT T oM 3,@?%3@@1&4 i,iﬁ%ﬁw AT %

(d) qﬂqu%qli,gwwwml—iﬁw%a RIT’T%

-~~~ Page 12



(i1)  Vijay, Ajay and Sanjay are partners in a firm sharing profits and
losses in the ratio of 7 : 5 : 8. Sanjay died on 28th August, 2021. His
share in the profits of the firm till the date of his death was
determined at ¥ 75,000. It will be debited to which of the following
accounts ? 1
(a)  Profit and Loss Suspense Account
(b)  Profit and Loss Account
(c) Profit and Loss Appropriation Account
(d)  Profit and Loss Adjustment Account

14. (1) Ria and Surbhi were partners in a firm sharing profits and losses
in the ratio of 3 : 2. With effect from 15t April, 2022, they agreed to
share profits equally. The goodwill of the firm was valued at
T 3,00,000. The adjustment will be done by which of the following
transaction ? 1

(a)  Debiting Surbhi’s account by ¥ 30,000 and crediting Ria’s
account by ¥ 30,000.

(b)  Debiting Ria’s account by ¥ 30,000 and crediting Surbhi’s
account by ¥ 30,000.

(c) Debiting Surbhi’s account by ¥ 3,000 and crediting Ria’s
account by ¥ 3,000.

(d)  Debiting Ria’s account by I 3,000 and crediting Surbhi’s
account by ¥ 3,000.

OR

(i) Naman, Suman and Mohit were partners in a firm sharing profits
in the ratio 8 : 5 : 3. With effect from 15 April, 2022, they decided
that in future, they will share the profits in the ratio 5 : 6 : 5.
Identify the gain or sacrifice by the partners due to change in
profit sharing ratio, from the following : 1

(a) Naman’s gain 3 , Suman’s sacrifice 1 , Mohit’s sacrifice 2
16 16 16

, . 3 , .1 s .2
(b) Naman’s sacrifice —, Suman’s gain —, Mohit’s gain —
16 16 16

, . 3 , .2 s .1

(c) Naman’s sacrifice —, Suman’s gain — , Mohit’s gain —
16 16 16

(d) Naman’s gain % , Suman’s sacrifice 13 , Mohit’s sacrifice 1

67/4/2 ~ N~~~ Page 13 P.T.O.
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17.

67/4/2

a1, T qen fem AEER 9 A1 4 : 3 : 2% ST § A died o | BH &
gt W e q9r T Yedsh 39 Wi H 9 % 9T fem i <d § | e, T

qn eI w1 T3 ATH-[IWSH STIATd B
(a) 3:4:2

(b) 2:3:4

(c) 4:2:3

(d) 3:2:4

Teh BH <hl TG hl TFT ISl I/ auf o 3NEd o9 o o9 a8 o I h
TGN Wl T8 | 31 9= ! GTH gC st = ol o a9 o

o /7 (%)
2018 — 19 (14,500)
2019 — 20 15,400
2020 — 21 32,900
2021 — 22 16,800

®H 1 TR T oI BT

(a) < 8,885

(b) T 37,950

(¢ T 58,950

d ¥ 20,690

Hifa qen stfefa ww wf i AR off qur 2 : 3% FIUE § T9-gIH 1 fIaTS=
el off | SR e & i R ae J e s
39+ fifd den sAfefa & SUst-aUsk fmifed fom | S 9 IS % &9 A
T 5,00,000 q1 Tl HiftRm % ®9 § T 1,00,000 @R1 | W HEER G
W%%WWWW%MTWI

®H ! Tl H ITYTH Al o ToTT STaeaeh UsHM=T Tfafsedt Hivg |
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15.

16.

17.

67/4/2

Niva, Naman and Nityam were partners sharing profits in the ratio of
4 : 3 : 2. Niva and Naman each give — from their share to Nityam on
reconstitution of the firm. The new profit sharing ratio among Niva,

Naman and Nityam will be : 1
(a) 3:4:2
(b) 2:3:4
(c) 4:2:3
d 3:2:4

The goodwill of a firm was valued on the basis of 3 years purchase of
average profits for the last four years. The profits of last four years
ending 315t March were as follows :

Year Profit/Loss (3)
2018 -19 (14,500)
2019 - 20 15,400
2020 - 21 32,900
2021 — 22 16,800
The value of goodwill of the firm was : 1
(a) T 8,885
(b) % 37,950
(c) T 58,950
(d < 20,690

Niti and Aditi were partners in a firm sharing profits and losses in the
ratio of 2 : 3. They admitted John into partnership for ith share in the
profits of the firm, which he acquired equally from Niti and Aditi. John
brought ¥ 5,00,000 as his capital and ¥ 1,00,000 as premium for
goodwill. One-fourth of the goodwill was withdrawn by the old partners.
Pass necessary journal entries for the above transactions in the books of

the firm. 3
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1 309, 2021 +i fgaw fafies 3 aoa faifies it < 8,00,000 i
giEgfaai 9em T 40,000 <l SIAIST hT IAWEW T 8,30,000 5
%d Oed W et | fgaw fafies 3 woe fafids it yam 7= y&r &
EI

(i) T 2,00,000 I TH TR g AT T ATE I9EGT I off, qe

(i) Woa fAfiee + AT 5 oI H P T 100 T&AF 6 10%
RO ! 10% S T Fifhd teh foham T |

39Yh el o1 fgdw fafies 1 qxdeni H oh@l & o T 3Tewas
T Sfafsear i |

AT

fesm fafade 9 T 100 &% % 500 I hl = 10% Hifw
fortfia femem o o qem o9 @ = 90 ufa o1 o T 9, T 30 ufq W
amees (Sifiem |fgd) dem = 20 Ufd 3191 YoM AT 1 YTAE 7 i W
&1 L Tt | 90 | 300 37901 I T 80 Wid 379 Ui g gA:frifha &
feam |

3T oh BT AT GH: 1A 1 Tawereh UsiATH= Sfafsear i |

HifehT, WfeeRT AT HHITCTH AR & A1 6 : 4 : 1 TJI1d § ATH
Sl & | HHITCTST I AT T T4 9W & fI¢ T 3,00,000 hHT =[IaH
st it A @ T R |31 WG, 2022 I THM FC IW F BH R
T 22,00,000 T g ATH g |

31 AT, 2022 %! FHH BT a¥ & [AC BH 1 AH-MH faf=aem @
TR HITY |

HAAAT
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18. (a) On 15t April, 2021, Hitesh Ltd. took over assets of ¥ 8,00,000 and
liabilities of ¥ 40,000 of Pranjal Ltd. at an agreed value of
T 8,30,000. Hitesh Ltd. paid the amount to Pranjal Ltd. as

follows :

(1) Gave an acceptance payable after 3 months for ¥ 2,00,000,
and

(i1)  Issued 10% Debentures of ¥ 100 each at a discount of 10%
to Pranjal Ltd. in satisfaction of the balance amount of
purchase consideration.

Pass the necessary journal entries to record the above transaction
in the books of Hitesh Ltd. 3

OR

(b)  Disha Ltd. forfeited 500 shares of ¥ 100 each issued at 10%
premium, ¥ 90 called up, on which the shareholders did not pay
T 30 per share on allotment (including premium) and first call of
T 20 per share. Out of these, 300 shares were reissued for ¥ 80
per share, fully paid up.

Pass necessary journal entries for forfeiture and reissue of shares. 3

19. (a) Monika, Bhoomika and Kamolika are partners sharing profits in
the ratio of 6 : 4 : 1. Kamolika is guaranteed a minimum amount of
T 3,00,000 as her share in profits. The firm earned a net profit of
T 22,00,000 for the year ended 315t March 2022.
Prepare Profit and Loss Appropriation Account of the firm for the
year ended 315t March, 2022. 3

OR
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67/4/2

(@) o=, 9t qon @icd Tk BH H Areigr off qur IRl ISt shuw:
T 3,00,000, ¥ 2,00,000 941 ¥ 1,00,000 i |
TS Hoi@ o JTEHHl o ITEN
(i) =T qAT FleAt ¥k T 1,500 TGk 9 bl geheR of |
(i) W& T 4,000 TS Id hl FeheR ot |

o

39YTh HETESEl i foRU fodT 31 #TE, 2022 i WA FT 9Y & AW

T 80,000 I ATEERT & o9 3T T9-faur=H U@ 3 :3: 2 # 9
e |

30 I 1 IR HE ok [0 BH I Rl H SAERIS IS
gfafse e | 1o wrt fewforn @ wose w9 @ gifzu |

TS, Hgh ad1 T ue ®H o AEigR & 9u1 2:2: 1 % 3FITd H AT9-g1H 1
fauem &t & | 3R ISt A T 6,00,000, T 4,00,000 AT T 2,00,000
off | ETeier) Torg § Fafafgd =1 graem o

(%) 8% =fieh o | YSit W = |
(@) 6% a1f¥eh g | IMEO W A |
(7)  H I ATPIER gRT ST T RO W 5% aTfYe @ | =W |

9 % GE TS 9 1 3FER, 2021 &l T 12,000 T &0 FhAT STafsh Tgh o
1 fegwsit, 2021 1 T 60,000 T ATEL fomaT |

1 SHadl, 2021 i feeam 3 &7 1 T 1,20,000 T k0T T |

31 HrE, 2022 1 GHH g oY o fou fffed el i wH sl gedeni |
3TERFe U= Sfafsedr i

(i) TS S WA JgH A o AT |

(i) &% o IMEW T I ARG T o AT |

(Gii) feeam gro wH 1 feu U ot W S e i & o |

gy & Y wd BN @/ vg ' fafem @ |9, S ot feafa a,
g gfafseat i |
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67/4/2

(b)  Ananya, Bhavi and Chandni were partners in a firm with capitals
of ¥ 3,00,000, ¥ 2,00,000 and T 1,00,000 respectively.

According to the provisions of the partnership deed :

(1) Ananya and Chandni were each entitled to a monthly salary
of T 1,500.

(i1)  Bhavi was entitled to a salary of ¥ 4,000 per annum.

The profit for the year ended 315t March, 2022, ¥ 80,000 was
divided between the partners in their profit sharing ratio of 3 : 3 : 2

without providing for the above adjustments.

Pass the necessary adjustment entry to rectify the above omissions

in the books of the firm. Show your working notes clearly.

Raj, Mehak and Divya were partners in a firm sharing profits and losses
in the ratio of 2 : 2 : 1. Their respective capitals were : ¥ 6,00,000,
T 4,00,000 and ¥ 2,00,000. The partnership deed provided for the
following :

(a) Interest on capital @ 8% per annum.

(b)  Interest on drawings @ 6% per annum.

(c) Interest on partner’s loan to the firm @ 5% per annum.

During the year, Raj had withdrawn ¥ 12,000 on 15t October, 2021, while
Mehak withdrew ¥ 60,000 on 15t December, 2021.

On 15t January, 2021, Divya had given a loan of ¥ 1,20,000 to the firm.

Pass the necessary journal entries in the books of the firm for the
following transactions for the year ended 315t March, 2022 :

(1) Allowing interest on Raj’s capital.
(i1))  Charging interest on Mehak’s drawings.
(iii) Providing interest on loan given to the firm by Divya.

Also pass transfer entries in the Profit and Loss Account/Profit and Loss

Appropriation Account, as the case may be.
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TR fafide i T 10 Y= % d9al =M | fawd T 20,00,000 i ATehd
gt off | ®E 9 60,000 I o TR % U steEd mwb@ TR |
58,000 3791 % foTQ 3TEET 9= TH 7 |

guft JreATE [ Sl TS qAr 2,000 M W T 3 Ul I <kl AfH T B
Biend ot ITH &1 T8 | 37 3T bl 807 T foram T |

Ht AfafEm, 2013 1 FIET I, AW I % JJIR A Yol Sl U &
feyfa foawor o quisy | 35 & fou @i & A’ off TR il |

JehTST, SIS AT TIehd Ueh SI@TT o TSGR o QAT 2 : 2 : 1 % U |
AT ! Sied o | 319, 2022 i 3R fefa foawor =1 g o

31 |, 2022 1 YeRTIT, ATHRTI a7 ferertd ot feurfa ferawo

- ufT . 1131
eR 2.,00,000 | §h 40,000
M G99 1,00,000 | ¥ih 60,000
g LA 1,60,000
FEIN 1,20,000 IEER 1,40,000
S IEAN 2,00,000 T 70,000
IEEJL:] 80,000 4,00,000 | wgq 2.30,000
7,00,000 7,00,000

30 faawar, 2022 FI T 1 T & 5 | Th ARIGR 6l I T AR 0@
# =1 1 Tage o

(1)  Hg hl TdlY d% Fash HIEIGR I A9 H IGeh1 W SRl o1, fUsd
Y o T b ATYR T hT S |

(i) ®H 6 @afd T 3Tesr v fSgehl oA fUse 9 aut & ofted v %
T 9T o ShT oh STMYR T <hl ST |
31 A= ! TATH fUSd IR a9t & a9 9 TR o
2018 - 19, ¥ 1,60,000; 2019 — 20, ¥ 1,00,000; 2020 - 21, T 80,000
qadar 2021 - 22, T 60,000.
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21. Sunstar Ltd. has an authorised capital of ¥ 20,00,000 divided into equity
shares of ¥ 10 each. The company invited applications for issuing 60,000
shares. Applications were received for 58,000 shares.

All calls were made and were duly received except the final call of ¥ 3
per share on 2,000 shares. These shares were forfeited.

Present the ‘Share Capital’ in the Balance Sheet of the Company as per
Schedule III, Part I of the Companies Act, 2013. Also prepare ‘Notes to
Accounts’ for the same. 4

22. Prakash, Aakash and Vikas were partners in a business sharing profits
in the ratio of 2 : 2 : 1. Their Balance Sheet as at 315t March, 2022 was as
follows:

Balance Sheet of Prakash, Aakash and Vikas as at 315t March, 2022

Liabilities AmOUDt |\ ets Amount
Creditors 2,00,000 | Bank 40,000
General Reserve 1,00,000 | Stock 60,000
Debtors 1,60,000
Capitals : Investments 1,40,000
Prakash 1,20,000 Furniture 70,000
Aakash 2,00,000 Building 2,30,000
Vikas 80,000 | 4,00,000
7,00,000 7,00,000

Vikas died on 30th September, 2022. On the death of a partner the
partnership deed provided for the following :

(i)  Deceased partner will be entitled to his share of profit up to the
date of death calculated on the basis of previous year’s profit.

(i1) His share in the Goodwill of the firm, calculated on the basis of
3 years purchase of average profits of last four years. Profits for

last four years ended 315t March were as follows :

2018 — 19, T 1,60,000; 2019 — 20, T 1,00,000; 2020 — 21, T 80,000
and 2021 — 22, T 60,000.

67/4/2 ~~~~
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24.

67/4/2

(i) g Kl fafey Tk ga TSGR 1 I T 20,000 T |
(iv) Yol | &S 12% arfves € 9 feon s |
fopTa o IR 1 TEqd S o TOIQ foehrd &1 ISl @rar dar i |

frafafaa affeafaat o g foafies f gt o 12% wowEt & fefga 6
TSI U= Tfefsed] i :

(i) T 100 I¥% & 1,000, 12% KOG 1 T 10% g W fhan =
e w89 Wifiem W fomen ST 2 |

(i) ¥ 100 TI$ o 4,000, 12% Ol bl HHA 5% Hiftem w fohan m
e Wea 10% Mftem w foen ST 3 |

(i) ¥ 100 Y% % 5,000, 12% FOE H1 w0 10% Hfeem ox frar mn
IEEEARILE R EE Rt E DI I

hTfdeh T HUT shl BH o faeed R foafie gimmata (Yo & sifdfics) qen

Rl AT HI TS @Id H TR o G99 HHfIRgd oedl o foTg
I TSI Hfafsedr it

(i)  HIfdeh 5 BH T 12,000 1 F0 e feeh fafeea yraE ot fen
™0

Gi) To=ea < fafsy w aw=fa @[ & am 9§ = 15,000 1 99 o |

(i) TN A, ek ®H W T 24,000 T 9, I H9EE § T 23,000
T2ieh TThR L T |

(iv) T o9 & S o@r ®H i gt § T80 ohal TR o, S |
T 31,000 § o foam |

(v) ohIfdeh 319 9T % T 16,000 o KU 1 YIAH i o oI TgHd I
T |

(vi) ¥ 60,000 % HA= Bl 10% AT R &9 &3 M |
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(iii) Drawings of the deceased partner up to the date of death were
T 20,000.

(iv) Interest on capital was allowed @ 12% per annum.

Prepare Vikas’s Capital account to be rendered to his executors. 4

23. Pass necessary journal entries for issue of 12% Debentures in the books
of Hemant Ltd. in the following cases : 6

(1) Issued 1,000, 12% Debentures of T 100 each at a discount of 10%,
redeemable at a premium of 8%.

(ii)  Issued 4,000, 12% Debentures of ¥ 100 each at a premium of 5%,
redeemable at a premium of 10%.

(iii) Issued 5,000, 12% Debentures of ¥ 100 each at a premium of 10%,
redeemable at par.

24. Pass the necessary journal entries for the following transactions on
dissolution of the firm of Kartik and Karan after various assets (other
than cash) and outside liabilities have been transferred to Realisation

Account : 6

(1) Kartik had given a loan of ¥ 12,000 to the firm which was duly
paid.

(ii)  Profit and Loss Account was showing a debit balance of ¥ 15,000
on the date of dissolution.

(iii) Creditors to whom the firm owed ¥ 24,000 accepted stock of
T 23,000 in full settlement.

(iv) A machine which was not recorded in the books of the firm was
taken over by Karan at ¥ 31,000.

(v)  Kartik agreed to pay his brother’s loan of ¥ 16,000.

(vi)  Furniture of ¥ 60,000 was sold at a profit of 10%.
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Iy fafides 3 T 10 9% & 50,000 THAT 3TN DI 10% R =«
fifta st o o7 maes etHfaa fope | Uiy w1 Yam e yeem @ @@
qT .

e W T 3 Ul 190; A& R (fiftem wfga) T 3 gia 311 aun yem
Tg AW AT AW T

1,20,000 30 % fIT TG TTH Y | ST 1 3MeA IUTIGH TR
W ot SAegwl W fEm T | 3ded WUt oAfdfs TR
UG € W e U H T &7 ™7 | 3T€e W e 3Aded Ui 9
JAfeyeh [T a9 o & T | U IWURS e 6,000 ;M & U
3T foham o, gem wg SAfqw Fr=AT UM 1 YA &1 ST Hehl e
3Gk ST T FOT H ol T | T RT T 3T T 60,000 O
vea qA:Fifa s feam e |

3T e o oTT w1 fafide 1 geaent § 3TEwereh UsHTH= Sfafseat

ST |

AT

A1 fAfies 9 T 10 I % 5,00,000 FHAT 37T I 10% HiRH W
fiftg e o fow s gEies I fomen | afsr 1 ymae = geer @
izf?ﬂ:

AMaeT W T 3 9fd 379, oFeed R (fiftrew afgd) T 5 gfa a1 qem vem
Tg Al I W T 3 Ui 379 |

6,00,000 3T % fC G H Y A1 Gl 3MMeGh hl IR
YR W A& K fean M | et | g SAfafs a6
UG 3TEed W ¢F Ui ¥ & fear man | wsft o ufsr uw & e,
had gt @ 3Tfafh, S 1,000 3TN 61 9 o1, a7 A€ 9 JIH
Ug 3IfcH IMEET BT PTAHE A B OB @ | 3Hb M T 80T
forem = |

sl ffee 1 geaehl § IUYh Gl o [olU TTawdeh  USHIH
yfafseat HifST | T8l Tavaes 8 3fed I @il ity |

-~~~ Page 24



e

25. (a) Yash Ltd. invited applications for 50,000 equity shares of ¥10 each
at a premium of 10%. The amount was payable as follows :
On application ¥ 3 per share; on allotment (including premium)
T 3 per share and on first and final call, the balance amount.
Applications were received for 1,20,000 shares and shares were
allotted on pro-rata basis to all applicants. The excess money
received on application was to be adjusted towards sums due on
allotment. Application money in excess of sums due on allotment
was refunded. A shareholder who applied for 6,000 shares could
not pay the first and final call money and his shares were forfeited.
The forfeited shares were reissued for ¥ 60,000 fully paid up.

Pass necessary journal entries for the above transactions in the
books of Yash Ltd. 6

OR

(b)  Ajanta Ltd. issued a prospectus inviting applications for issuing
5,00,000 equity shares of ¥ 10 each issued at a premium of 10%.
The amount was payable as follows :
On application — ¥ 3 per share
On allotment (including premium) — ¥ 5 per share
On first and final call — ¥ 3 per share
Applications were received for 6,00,000 shares and pro-rata
allotment was made to all applicants. Excess money received on
application was adjusted towards sums due on allotment. All
amounts were duly received except from Sumit, who was the

holder of 1,000 shares, and failed to pay the allotment and first

and final call. His shares were forfeited.

Pass journal entries for the above transactions in the books of

Ajanta Ltd. Open calls-in-arrears account wherever necessary. 6
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67/4/2

(%) oW a1 B9 TH BH hHI ARG off qAT 5 : 3 o AT H ATH-ZIH Siedt
off | 1 310, 2022 &l 384 Afefd I Tk FEER s=R™T | 39 fafyr <l
I9eh1 Teafa foawor = wer o

1 379, 2022 T YU a1 ST o7 Torfa foraon

St iy it iy
T T
g e 3,80,000
qfH 3,20,000 HrATa 50,000
Sfa 3,40,000
6,60,000 | <aR 2,30,000
= g9 80,000 | ¥Teh 150,000
Seh T 60,000 | Ths 50,000
TER 60,000
8,60,000 8,60,000

aﬁ&rﬁﬁmﬁf@awﬁmwﬁﬁ%m%fmtﬁﬁmﬁmw:
()  <fefd = 3,00,000 79 ISl o €9 F AT |

Gi) orfefa w=nfa Nfew =1 39 v T ol | w0 f w=fa =
HedTeh USel 1 a9l o 39d @19 < Gl a1 < Y o MU T
foram T | fUse fi9 9wl <1 3TEd &9 T 60,000 o |

(iii) AR T IR T 4,60,000 ToRaT T |

(iv)  of" o Sfa AT ISl 1 FHREISE =10 @Td @it e i st
& YR g foram T |

JHCToh QAT a2 HIRIGRT < Yeil @I qar hifg |

AT
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(a) Bhumi and Chavi were partners in a firm sharing profits and

losses in the ratio of 5 : 3. They admitted Aditi in the firm on

18t April, 2022. On that date their Balance Sheet was as follows :

Balance Sheet of Bhumi and Chavi as at 15t April, 2022

A t A t
Liabilities T2 | Assets i
Capitals : Machinery 3,80,000
Bhumi 3,20,000 Furniture 50,000
Chawni 3,40,000 | 6,60,000 Debtors 2.30,000
General Reserve 80,000 | Stock 1,50,000
Bank loan 60,000 | Cash 50,000
Creditors 60,000
8,60,000 8,60,000

Aditi was admitted in the firm with 1 share in profits on the

following terms :

(1) Aditi will bring ¥ 3,00,000 as her capital.

(i1)  Aditi will bring her share of goodwill premium in cash.

Goodwill of the firm was valued on the basis of two years

purchase of average profits of the last three years. Average

profits of the last three years were ¥ 60,000.

(i11) Machinery was revalued at ¥ 4,60,000.

(iv)  The capitals of Bhumi and Chavi were adjusted on the basis

of Aditi’s capital by opening current accounts.

Prepare Revaluation Account and Partners’ Capital Accounts.

OR

a2 2o 2o 4
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(@) A, o1 qen dAT wEeR off 9¢T 5 3 : 2 W AU H ATH-gIH sl
off | 31 AT, 2022 i 3ehT fefd faemor = Tevr o .
31 W=, 2022 1 TAT, A1 qor =T 1 feufa feawo
QR 66,000 | HI=T 1,12,000
T foe 59,000 | ¥ieh 1,77,000
g TR 2,80,000
5 00.000 o1 |fgy o
i 2,00, ¥ folu g™ 7,000 | 2,73,000
&1 2,00,000 e 63,000
91 1,00,000 | 5,00,000
6,25,000 6,25,000
39y fafer 1 w1 frefeifea st ) darfea g o
(i)  ®H I AN I e T 60,000 TohaT T=T AT THT o ST
9T %1 WY AIRIGR < IS Qrdi o HIEIH & FHEIMNG e T
™|
(i) =R W T 10,000 TeISE T T |
(iii) T I SET AT AT G AT T g ok HIEAH F A 39
YR TohaT ST & Toh 3eh! YSf 3ok 9T &Y fouTeiA o1qumd 1: 1
H 8l 9T |
qHcATeh @Il a1 |IRIGRI o Yot @I dar i |
W @
forereT - 1
(Ter<fiar ferarott =1 fergewoD)
() Tr=afatea & 9 freen afomy Uehs yarg BhT 2
(a) d% ¥ T 50,000 T TS L
(b) AR % AYfaehalatl @l T 2,00,000, 9% FROGHAT 1 fFHA
(¢) SIS ¥ T 30,000 Iifer
(d) s ¥ T 20,000 % < AT fHhU
arerat
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£
(b)  Anna, Bina and Teena were partners sharing profits and losses in

the ratio of 5 : 3 : 2. Their Balance Sheet on 315t March, 2022 was
as follows :

Balance Sheet of Anna, Bina and Teena as at 315t March, 2022

Liabilities AmOUDt |\ sets Amount
Creditors 66,000 | Furniture 1,12,000
Bills Payable 59,000 | Stock 1,77,000
Debtors 2,80,000
Capitals : ]ﬁiisd&f’é"mn fgl,nooo 2,73,000
Anna 2,00,000 Cash — 63.000
Bina 2,00,000 ’
Teena  1,00,000 | 2:00,000
6,25,000 6,25,000

On the above date, Anna retired on the following terms :

(1) Goodwill of the firm was valued at ¥ 60,000 and Anna’s share of
goodwill was adjusted through the capital accounts of remaining
partners.

(ii)  Furniture was depreciated by ¥ 10,000.

(iii) Anna was to be paid through cash brought in by Bina and Teena in
such a way as to make their capitals proportionate to their new
profit sharing ratio of 1 : 1.

Prepare Revaluation and Partners’ Capital Accounts. 6
PART B
OPTION -1
(Analysis of Financial Statements)
27. (1) Which of the following will result in flow of cash ? 1

(a) Cash withdrawn from the bank ¥ 50,000

(b) T 2,00,000, 9% debentures issued to vendors of machinery
(c) T 30,000 received from debtors

(d)  Cheques of T 20,000 deposited in the bank

OR
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29.

30.
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(i1)

(1)

(i1)

o

T 999 & T ®9 H Uhs-qed HHT SIAT 8 hddl avt Sid 3geh
MY TG HH B, IR e, i AU i Gfyr T |

(a) < &M AYan feen
(b) B: HEM YA HH

(¢c) Ueh IY 3T hH

(d) 9 wEH Tuar w9

If¢ a1 a9 § Y= @ AT T 10,00,000 7 TAT Tohel ATH, AN 9T
25% &, Al T § AN hl ATd BT

(a) ¥ 2,50,000 (b) ¥ 12,50,000
(c) < 2,00,000 (d ¥ 8,50,000
AT

Ifg 3 fAfide 1 J=TeH U 60% 7, A SHR! S=TeH 1Y 14T
BT

(a) 100%

(b)  60%

(0 40%

(d) 160%

(a)
(b)
(c)
(d)

o
BRI

Rgd o & SH-AT MeH-HAT AT 757 8 ?
e W g

TSl ST 31T

TaTtHcd 31U

F IREFIRET T RO ST

{hg JaTg foerul SHId THY Ueh o<l -l gRI ‘UTH SIS ohl aifichd ol

QT

(a)
(b)
(c)
(d)

ol nifafarfer & w9 &
T Tidfafer & w9 9
o nfafafa & w9 4
TS Td {hg Jedl % &9 4
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(i1)  An investment normally qualifies as cash equivalent only when it
has a short maturity, of say, from the date of acquisition. 1

(a) Three months or more
(b) Six months or less
(c) One year or less

(d) Three months or less

(i) If revenue from operations is ¥ 10,00,000 and gross profit is 25%

on cost, cost of revenue from operations will be : 1
(a) < 2,50,000 (b) < 12,50,000
(c) T 2,00,000 (d < 8,50,000
OR
(i1))  If the operating ratio of Aman Ltd. is 60%, its operating profit ratio
will be : 1
(a) 100%
(b) 60%
() 40%
(d) 160%
Which of the following is not a Solvency Ratio ? 1

(a) Return on Investment

(b)  Interest Coverage Ratio
(c) Proprietary Ratio

(d)  Total Assets to Debt Ratio

While preparing Cash Flow Statement, ‘Interest received’ by a finance
company is classified as : 1

(a)  Financing activity
(b)  Operating activity
(c) Investing activity

(d) Cash and cash equivalents
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31. fmfaReq #gi ot ot arfufem, 2013 &t g 101, Wi I & FER fRafd

foator & e sfiveni qem 3u-3fiyehi # affed hHINT 3
(i)  Gau AWK
i) g E=

(i) @I 3SR

32. ‘S ITUIGI <hl U] GETT GRI <reiehlel § 0T FebTH <hl &Tal ol Feif &
o foru <1 St 8 1 3

(i) S H dfdd TIUTdl b TR Hl TgaI-T |

(i) 39 (i) § IEAH T 3T o YhR o fehedl g STUTAI sl AHSST |

33. () (&) o fafiRe %1 =1e 399E 35 :1 8 T A 3@ 2: 1 7 |
afe wa ufemfl | o] gt B ostfusar e
JiatTeca ¥eieh (Fawel) Ll &, T 48,000 &, A ATe] TREF T

qT =] QA shl TTUMET SHIT | 2+2=4
(@) =R GHAT FTITT hi TUHT hHITT :

AT o hIY - Z 2,00,000

o9 U9 e - T 1,00,000

F T _ T 4,00,000

Bl R - T 1,00,000

arerat

(ii) e YT I AT I 2: 1 7 | SRV AZd 3g@ hite fop Fmfriaa

AT | ST ST, T 3TaT I9Y I3 Uied T8l AT 4

%) T 60,000 % HATA HT TE H

@) T 2,00,000 i TR gfmratat w1 e w9

) T 20,000 ! AT & TTA BT T 23,000 H 3R farsha
) ¥ 10,00,000 % 730 KT A

T

(
(
(
(

o
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Classify the following items under major heads and sub-heads (if any) in

the Balance Sheet of a company as per Schedule III, Part I of the
Companies Act, 2013 : 3
(1) Loose Tools

(i1)  Capital Reserve

(iii) Mining Rights

‘These ratios are calculated to determine the ability of the business to
service its debt in the long run.’ 3

(1) Identify the types of ratios discussed above.

(ii)  Explain any two ratios of the types of ratios identified in (i) above

(1) (a) Y Ltd. has a Current Ratio of 3-5 : 1 and Quick Ratio of
2:1. If excess of current assets over quick assets
represented by inventory is ¥ 48,000, calculate current
assets and current liabilities. 2+2=4

(b)  Calculate Debt to Equity Ratio :

Shareholder Funds - ¥ 2,00,000

Reserves and Surplus — < 1,00,000

Total Debt — T 4,00,000

Current Liabilities — ¥ 1,00,000
OR

(ii)) The Current Ratio of a company is 2 : 1. State giving reasons
which of the following transactions would improve, reduce or not
change the ratio : 4

(a)  Purchase of goods for cash ¥ 60,000

(b) Purchase of fixed assets for cash ¥ 2,00,000

(c) Sale of goods costing ¥ 20,000 for ¥ 23,000 on credit
(d) Issue of shares ¥ 10,00,000

~ Page 33 P.T.O.



67/4/2

=1 wreafies oA i ufeu qen 39 AUR W e T 9w 1 3w e

HIIa T

'HTQQ%

hl AYAT I I

m%uaﬁa 2019@3@34@@&3‘[%6941@@%

&1 T34 fopam | 38 Oal &+

R | o1 STTETE Ueh Hhel SIGET o1 | 3 9 Sgd H 3 < H Sqadr
1 foedr e wed o | fodE sreavEnare i qfd % fog

o

ST T3 bl H°h|{ 0|<1Q’1°|'){ ]:ngla feafh

3B T

2 1 T4 fema | 31.3.2022 !

e =1 Teurfa foeror f=feafeaa o
31 HT=I, 2022 1 AT ferfaes o1 fearfa feemor
e | 31.3.2022 | 31.3.2021
o .
g. T T
I — THAT qAUT TIATU :
1. Ivanes fAfeat
%) T YA 35,00,000 | 25,00,000
(@) 7= ug Ay
(e fe) 12,50,000 | 10,00,000
2. A A0
éld%lﬁlq 3
IR 12,50,000 |  3,50,000
(10% =RUT9=)
3. %nq\éa?nﬁ
agaﬁmlq 3
(& ﬁq%;g) 50,000 75,000
(@) =amTies < 2,50,000 | 1,50,000
(1) TeRTA JTE 1 1,50,000 75,000
E3 64,50,000 | 41,50,000
II - gfErg et
1 A= it
Tt gfgeataat
(%) 7d FiEafat 2 40,00,000 | 22,50,000
(@) o aiEwa o
3,50,000 | 5,00,000
() 3
2 6] gt
(%) gaiegl (wTeTgE) 6,25,000 |  5,00,000
(@) =aTiEh 91 12,50,000 | 7,50,000
(1) Uehg T Thg Tod 2,25000 |  1,50,000
El 64,50,000 | 41,50,000

a2 2o 2o 4
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Read the following hypothetical text and answer the given question on
this basis :

Madhav is a young entrepreneur. On 1St April, 2019, he formed a
partnership firm with two of his friends, Mohan and Sohan. They started
their business of exporting dry fruits. Their business was a successful
business. Now they wanted to expand the business in many other
countries. For meeting the financial requirements, they changed the form
of business organisation and formed Madhav Ltd. The Balance Sheet of

Madhav Ltd. as at 31.3.2022 was as follows :
Balance Sheet of Madhav Ltd. as at 315t March, 2022

Page 35

Particul Note | 31.3.2022 | 31.3.2021
articulars No. > -
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Share Capital 35,00,000 | 25,00,000
(b) Reserves and Surplus
(Statement of P & L) 12,50,000 | 10,00,000
2. Non-Current Liabilities
Long-term Borrowings
(10% Debentures) 12,50,000 3,50,000
3. Current Liabilities
(a) Short-term Borrowings
(Bank Overdraft) 20,000 75,000
(b) Trade Payables 2,50,000 1,50,000
(c) Short-term Provisions 1 1,50,000 75,000
Total 64,50,000 | 41,50,000
II - Assets :
1. Non-Current Assets
Fixed Assets
(a) Tangible Assets 2 40,00,000 | 22,50,000
(b) Intangible Assets
(Goodwill) 3,50,000 5,00,000
2. Current Assets
(a) Inventories 6,25,000 5,00,000
(b) Trade Receivables 12,50,000 7,50,000
(c) Cash and Cash
Equivalents 2,25,000 1,50,000
Total 64,50,000 | 41,50,000
N N N
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Qrdi o e :
e 31.3.2022 | 31.3.2021
.| Tora RN RN
9.
-
1 | CTYeRTA T
I 1,50,000 75,000
2 | ga uiEe et
a7 g g 44,00,000 |  25,00,000
2T Thizd HodgTd (4,00,000) |  (2,50,000)
40,00,000 | 22,50,000
STARE GT :

i) @9 % NE T 1,25,000 AT Hi Th WG G W wwha goasE
T 50,000 o, 1 fasha T 45,000 ¥ fopar T |

(i) O W T 1,25,000 TS T YA foham 7= |

I9YE & g YA o YR W 7gd Tafads i e mfafaferi’ qon T

Tfafafern’ @ Uehe Jat@ Y TOMET HIfST |

R IRRC|
IEETS N |
IR caERSICIET))
(i)  giEraf i Geedr qe FHEEl o garad U % folt, SIadm
(a)  hdd Ifehaq T ARG L 1 IseT LT 3 |
(b)  3ATdfeh =0 @@t 8 |

o~

(c) had T TG Tl 1@ i AT hial & |

(d) haw gigrafeRn s g @ 2 |

3T
(i) & # TG TSRIA BIeht 2
(a) 9 forsll T 1 I F AW fohall AT B |

(b) 9 oI 3UTeY & gl |
(c) SId hicH IH €9 ¥ fowqa &1 ® |

(d) 9 I U Tl 7 |
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Notes to Accounts :

Note 31.3.2022 | 31.3.2021
No. Particulars Amount Amount
< <
1 Short term Provisions
Provision for Tax 1,50,000 75,000
2 Tangible Assets
Plant and Machinery 44,00,000 | 25,00,000
Less Accumulated Depreciation (4,00,000) | (2,50,000)

40,00,000 | 22,50,000

Additional Information :

1)

(i1)

A part of the machine costing ¥ 1,25,000 accumulated depreciation
thereon being ¥ 50,000 was sold for 45,000 during the year.

Interest of ¥ 1,25,000 was paid on Debentures.

Calculate cash flows from ‘Investing activities’ and ‘Financing activities’

of Madhav Ltd. from the information provided above.
PART B
OPTION -11
(Computerised Accounting )

(i) To safeguard assets and optimise the use of resources, a business 1

(a)  Only tries to earn maximum revenue.

(b)  Keeps internal controls.

(c) Only ensures accurate accounting records.

(d)  Only safeguards assets.

OR

(ii)  Correct ##### error appears : 1

(a)  When a number is divided by zero.
(b)  When value is not available.
(¢)  When column is not wide enough.

(d) When formula is not available.
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Correct #DIV/0! Ffe Jefiid Bt 3 94

(a)
(b)
(c)
(d)
(i)

(i1)

hIcTH TEAYIHATTER ST &l 8 |
GE&T1 ! I W 9T T SiTan ® |

qed 3Uced &l gl |

(a) T (c) QM

heHg BT (HITSHIhIM) hl TR § :

(a)  AHIH Hig a9 & fow

(b) <2 UHRM % g

(¢) WId, fdded, gearfe gufera s & foT

(d) S H1 A IihAV qAT TGT o TE T@ETE o I
HAAT

TG GEAehl T 3TN 3 o foTT UTEehT g < TR gl W Bl B ?

(a) T QT USHTHE

(b) A (HH) QIdTeE]

(¢c) UT¥ QId I9-Qrdrsal

(d) Tospa UeHm=

frafafga & 9 - 1iierfcs oareRT Jurett <61 e fawsar 7@ 8 2

(a)
(b)
(c)
(d)

A T Thihd

g aUr i

JAThg IThEUT shl JTAIAhT Tal
forgaatera

fopegl i el W Ao |fFea= adl STed aifedi (S A
I T2 HINY |

T ARE, Ue-SfdE AR qUT YER-TEHEE AR Hl F1 AY 7 ?
ATt @R JoTTett o foheal dfiF el a2 Ueh i1 &l 3g@ HIfT |

AYAT

Qa1 g Tv-gT’ o feheel = sfivehi ! a@zmsy |
foregl Q1 STAMT % HeT RO W HA AN hl FcAIT DA dTel i H I
T FATET qA W FHEAET |
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Correct #DIV/0! Error appears when
(a)  column is not wide enough.
(b) number is divided by zero.

(c) value is not available.

(d) (a) and (c¢) both

(i) The need of codification is for :
(a)  Generation of mnemonic codes.
(b)  The encryption of data
(c) Securing the accounts, reports, etc.
(d)  Easy processing of data and keeping proper records

OR

(ii1)  Where are the amounts owed by customers for credit purchases
found in books of accounts ?

(a)  Accounts Receivable Journal

(b)  General Ledger

(¢)  Accounts Receivable Subsidiary Ledger
(d)  Sales Journal

Which of the following is not a feature of Computerised Accounting
System ?

(a)  Simple and Integrated

(b)  Accurate and Speed

(c) Data audit not required

(d)  Reliability

Differentiate between ‘Generic Software’ and ‘Tailored Software’ on any
three basis.

What is meant by ‘Memo Voucher’, ‘Post-dated Voucher’ and
‘User-defined voucher’ ?

State any three advantages and any one limitation of Computerised
Accounting System.

OR

Explain any four heads from the account group ‘Profit and Loss’.

Name and explain the financial function which will be used to verify the
total interest on a loan between any two periods.
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